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Greek Science


Scientific data created by observation was plagued by cultural biases that were built into Greek society and flourished under “scientists” like Aristotle.  Greek society had some preconceptions that were so pervasive that they were believed by the majority, essentially they were built in.  A few of these prejudices were the ideas that there is a natural order and that humans can articulate it, that natural phenomenon was not caused by Gods and that earth was the center of the universe.  Greek biases were different than that of the bible because the bible assumes that nature was a reflection of God’s divine will and reaction to human actions, people had no control.  


One of the Greek’s built in biases was that there was an order to nature and that humans could articulate it.  This implies that humans could recognize and understand the order of nature.  For humans to be able to recognize the order it would have to be similar to the human world and this put a constraint upon the natural world.  Anything that was not within these constraints was seen as an anomaly and disregarded.  An example of this predisposition was the Greek’s four basic elements that made up everything; earth, air, water and fire.  These were elements that the Greeks found to be important in their lives and they applied them to the natural world.  They created a preconception that the natural world’s main elements are the same as the human world.  If anything was found outside of these elements then it was disregarded. These two sentences seem to relay the same thought.  Aristotle used this bias in his theory about the movement of the planets.  If anything moved in an unusual order, such as the movement of Mars, it was disregarded because it did not fit the bias, that planets move in circular orbits.


A second built in bias of the Greek’s was that natural phenomena were not caused by Gods but instead by explainable observations and patterns.  This implies that there is not a divine being controlling the natural world and that people can predict and eventually control nature.  This preconceived notion is different from previous ones because people use to think that natural phenomena were caused by an angry or happy god and therefore unpredictable.  By removing the god, the Greeks assumed they would be able to predict what would happen and where.  This partiality assumes that nature works in explainable patterns and visible observations What do you mean by this.  An example of this is the play between Socrates and Strepsiades where they discuss the cause of thunder and rain.  Instead of using God as an explanation they describe how the clouds roll over each other and that makes the thunder.  This theory describes the patterns Socrates observes and then his explanation based upon the observation.  


A final bias that the Greeks had was that the earth was at the center of the universe.  This preconception was based upon the observations by “scientists” like Aristotle who already had a preconceived notion that the earth was at the center of the universe.  He recorded the observations that proved his theory right and found that the other dissenting observations were anomalies and therefore unimportant.  The Greek population was not open to accepting the idea that earth was not at the center of the universe.  If earth was not at the center of the universe that meant that it was not one of the “chosen ones.”  This had a huge repercussion for Christianity because if earth was not the chosen one then they were not God’s children and the faith would have faltered. Good Point Therefore it was important for Christians to believe that earth was the center of the universe.  


Biases such as there is a natural order and that humans can articulate it, that natural phenomenon was not caused by Gods and that earth was the center of the universe were tightly ingrained into Greek society and therefore very difficult to change.  Instead of people changing their opinions and predispositions because of new observations they continue to accept the old idea because it is familiar and not threatening.  This means that it would take a long time for theories to change and the evidence would have to be substantial.  Many of the theories developed by observation during early Greek science were not over changed What? until later times in history because there was not enough evidence to change the biases of the culture.  An example of this is Archimedes of Syracuse who proved Aristotle wrong on projectile motion.  Aristotle thought that objects moved parallel to earth until it was the right time to fall down.  Archimedes was able to show with some simple experiments of catapults throwing objects over walls that objects moved in a parabolic motion.  Aristotle’s theory held for about 100 years even though they were obviously wrong.


A repercussion for a scientific system based upon predisposed observation is that the findings are inaccurate.  The bias does not allow for different interpretations and people were unwilling to change their opinions because it meant being unsure and out of control.  Overall, there was no room for scientific objectivity because it meant uncertainty.  The biases were an easy way to disregard some information that would disprove a theory or make it more difficult.  It was a way for Greeks to feel as though they were in control in a chaotic world. Good point, but it should be expanded upon more. Why do we keep these biases? How does this affect science today? B+
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